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Frequency unit eigen-vector, with Tsys

PSD of freqg. eigen-vector [arbitrary units]

B.0150

p.0125

p.0100

B.0075

B.0050

A:LSB
A:USB
B:LSB

B:USB
= All SB

B.0025

p.0006

[0.030

[0.025

0.020

0.015

0.010

—o.ooW
10.000

0.030

[0.025

F0.020

F0.015

0.010

[F0.005

0.00

0.015

0.020

F0.015

F0.010

0.005

0.00

T T T T T
26 27 28 29 30

Frequency [GHz]

31

32

33

T T T T
8 10 12 14 167
<

[1/GHz] ~

24.5

24.8

25.1

T
1
)
~

RA [deg]

25.8

26.1

26.5

-1.3

1.0
0.7
0.4
0.0
-0.3
-0.6
-1.0
-1.3

-1.0

-1.3

Dec [deg] Dec [deg] Dec [deg] Dec [deg]

- TS e TS e 2T eErn T e T

Dec [deg]

10

-10

1.0

0.5

0.0

uK

-0.5

-1.0



